


(b)_ The last round of GATT ended iti \

(i) Uruguay
(iz) Cancun
(iii) Mexico
(iv) None of the above.
(c) The WTO is an organisation for
(i) Promotion of free trade

(ii) Framing_rules and regulations of
International trade.

(if) For settling trade disputes.
(iv) All of the above.

(d) refers to that pdrtion of the total

deposits of a commercial bank which has to
. be kept in the form of cash reserves.
(i) CRR '
(i) SLK -
(iii) Bank rate
(iv) Repo rate.
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Answer in bnef

“What do you mean by
mvestment) Pk 7
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(b Define a NMNC. . :
(i ) What is a free—trade pohcy ‘anmng :
c
‘What do you mean by grass—root P
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. What do you mean by monetary policy ?
~ What are the objectives of monetary policy

| in India ?

3' hisb it
Answer the following :

(@ Which srs the bon-porgie
) ins}tl_lcl? are the non-bankin i
fo 1tutions ? What is their im og 4

r the Indian economy ? i

(b) What are the a e

| dVant . i ¥ “-
the Indian ecbnomyaf s of globalizaf

What are the main causes of dis-equilibrium *
in India’s balance of payments position 9 Has
it improved after the. p@)tst-‘gleba}l‘i‘zaﬁon,
policy ? gl L
() Discuss the proad objectives of India’s
current five-year plem. G

B © .
a::l)lé:n e importance of formin R
exampfe(;no.mlc trade blocks. %} -8

of them. : Fve " L
(¢) One of the important part of India’s tra
policy was the setting up of SEZ’s. What
are SEZ’s? And what is the objective of

setting up SEZ’s o

(d What it i
are the diff: '

i erent ¢ !

economic environment ? omponent

a goverrxrnent budget ?

(1) ‘What do youmean by
components of India"s .

~ What are the different
_Revenue and Capital budget?
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